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Note : There are three sections A, B and C in the paper.

(ii) Q7T T 3T G 1 % G 10 9T F IR TG 1 59F 97T @ 3% HE T
T 10 977 FGHE FFR & T & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) BFFT @ F 8 T A @ 15 6 T & I T | TF I 3 3% B & U
$THT 5 TT5,/50 F1GT H IR Il |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) T &3 6 T A @ foeg] 4 Fo & T GG | T T 8 3 HE T
g7HT 15 T8/150 Ieg] 7 I GHorT |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) TF QT & GH) 51 B HHIR TF G § il |

Solve all the questions of a section consecutively together.

(vi) ) YTSTS B iR &1 @) R & S S7are & A 8 |

Only English version is valid in case of difference in both the languages.

AR/A —T
SECTION - A
I () S R e s
(a) STHR I () frETa
(c) WA (d) wm=-gd
The size of a cam depends upon
(a) Base circle (b) Pitch circle
(¢) Prime circle (d) Outer circle
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(ii)

(iii)

@iv)

™)

(vi)

U3l AT H 6T (slip) 3 ST FTHITT BT R |

(2) A (b) 3

(c) IS I TE (d) S

Due to slip in belt drive, the velocity ratio

(a) decreases (b) increases

(c) no change (d) All of the above

T wre 3 39 Seg B

(a) ST % ST (b)  STIHIT T kA A
(c) WeH THT W 3ok (d) T gHE T A

The train value in a gear train is

(a) Equal to velocity ratio (b) Reciprocal of velocity ratio
(c) Always more than unity (d) Always less than unity
SHoll % IR TG BT JhaH A 2 :

(a) AreHam Sl 9 =EAH ST A HT I

(b) St o SNfehad T =FAH HAl T T <R
(c) Tl o AR o =AAH TH HT STIITA

(d) 3itea wfeier et aen Rt gferrsh 1 3T

The maximum fluctuation of energy is

(a) sum of maximum and minimum energy
(b) difference of maximum and minimum energy
(c) ratio of maximum and minimum energy

(d) ratio of the mean resisting torque to the work done per cycle

e MR < F=ms (. 7) FHESEA B |

(a) 8.95/N2 (b) 89.5/N2

(c) 895/N2 (d) 8950/N2

The height of a Watt’s Governor (in meters) is equal to

(a) 8.95/N2 (b) 89.5/N2

(¢) 895/N2 (d) 8950/N2
a9 8 T b FaTg |

(@) WsH (b) SvE 5w

(c) v =Ah sh (d) I=ieh foear i
The brake used in railway wagons is

(a) Shoe brake (b) Band brake

(c) Band & block brake (d) Internal expanding brake
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(vii) = g8 B o Tohe T, e T ST SHolt &R
(a) I St B ST o ST (b) R T TRt STl o e
© (a)d(b)aH (d) S § Y HIg TR
Energy absorbed by brakes when a moving car is stopped
(@) equal to change in kinetic energy
(b) equal to potential energy on stopping
(c) Both (a) and (b)
(d) None of the above
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(viii) oM T T Tl T FM AT Fqferd HET TSI BT 8, S 3 1 T

B2 |
(a) ol (b) WM
() 3= (d) S T § S T
The balancing of rotating and reciprocating parts is necessary, when parts runs at
speed.
(a) slow (b) medium
(¢) high (d) None of the above

(ix) e 3 e Tger o ford
(a) wmm@wﬁwﬁmmw@m%l
(b) ST 35 T TR T et ST bl A Y Bl R |
(© (a7 (b) &l
(@ S o A I
For static balancing of a shaft
(a) The net forces acting on the shaft is zero.
(b) Net couple due to forces acting on the shaft is zero.
(c) Both (a) and (b)
(d) None qf the above
(x) atemeTse ¥ vy i frR & ®™ &
(a) TR S KT (b) e sEEH |
(c) TS <! gieshn e Tifd G T (d) g T TS} T AT TGH BT
A differential gear in automobile is used to
(a) Reduce speed
(b) Assist in changing speed
(c) provide jerk free movement of the vehicle
(d) help in turning

YA —
SECTION-B
2. ﬁmw%haﬁ?ﬁmaﬁﬁaﬁmém@ |
Explain different types of cams and followers with help of diagram.

3. mwﬁfﬁ;ﬂmaﬁqaﬁuﬁmﬁmﬁl

Explain the phenomenon of slip and creep in belt drive.

(1x10)
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4. TR o @ 3109 = v § ? $Heh YR ! i Ty |

What do you understand by Gear train ? Write its types with diagram. A3

5. ﬁumv%&wwm%?ﬁwv%manaﬁtﬁmmﬁl

What is the function of a flywheel ? Give difference between a flywheel & governor. (3)

6. nﬁwwm%?wmam%@l

What is the function of Governor 2 Write names of its types & their use. 3)
7. S 9 AN § 3 wars |

Distinguish between brakes and dynamometers. 3
8. 3ferh i et ot A oo o @ 3Tl T Tor o ST 2 7

Why is balancing of rotating components necessary in high speed engines ? A3)

9.  THHIETCH % YR, oW UF 3T Rafad |

Write down the types, advantages and uses of rope drive. 3
e — &
SECTION - C
10. 9T = e, ww@%wsﬁwm@mw-aﬁam%@ |
Discuss relative merits, demerits and uses of belt, rope and chain drive. 8
1. Tds frr aren &1 a9fm gy 1 |
Explain reverted Gear train with diagram. ®)

12. Wvﬁﬁ%mw—mwﬁm@mﬁmm-m@maﬁqﬁmﬁmm@
3T T TTRE ) |

Define coefficient of fluctuation of speed and coefficient of fluctuation of energy in a
flywheel and drive their formula. 8

13. mﬁﬁm@mwﬁraﬁmw% ? T I T R | A F D
I T 31fre Junfi o

What are centrifugal and inertia type governor. Write their differences. Which 1s more

useful from the two ? 3)
14. ol srebme o sifeb fereem 5 gmaman |
Discuss the various types of braking system. 8)

15. mwﬁqﬁh%&:mﬁﬁ%@m%mm% ? TSy |

Explain how different masses rotating in different planes are balanced. ®)




